NERHA

A AL & g =
= * i3 = F
& B6EHFEHRE 145 H 4 B BEEZEREEREREER
& HERERKEE V2 —kELIE
1 | BT E R+ 2R R & 7 ¥ m[100 8RS
T X X fHBEZIH AR - BT E|FIR A — 5 E AL
MR B B|STEHE108248 108205 15 7| (BA)] BIHRFT BN ZRRESR
# o7 % BEMESNENRESR 3 = AN ENRERE
yoEE R ¥11,349,000(5 > & £47% (a) 0.99923873
REDE R ¥10,493,000|5 > & AFE# (b) 1.00292727
A Al & 2
No BEX (L %1mE %£2m 53 % B
1] (&) I¥HKR—LA ¥10,840,000
2 |hRIHEE ¥10,5640,000
3| (B) EHIHKE ¥10,538,000 AL
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19

20




